o 1) — )9 — Half ~Jeandy

SUMMATIVE ASSESSMENT I (2011)

. : 460012
Hapford wem —|
MATHEMATICS / oI
Class — IX /&8 —
Time allowed: 3 hours ~ o ; Maximum Marks: 90
frafRa w9 : 3 992 ‘ / . . frEad @ : 90

General lnst’ructionS'

(i) - All questlons are compulsory.
(i) The question paper consists of 34 questions divided into four sectxons A,B,Cand D, Section -
A comprises of 8 questlons of 1 mark each, sectxon B comprises of 6 questions of 2 ‘marks
each, section C comprises of 10 questions of 3 marks each and section D comprises 10
questions of 4 marks each.
(iii) Question numbers 1 to 10 in section-A are multiple choice questions where you are to
. select one correct option out of the given four.

- {iv) There is no overall choice. However, internal choice have been provided in 1 question of -
two marks, 3 questions of three marks each and 2 quéstions of four marks each. You have
to attempt only one of the alternatives in all such questions.

(v) Use of calculator is not permitted.
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Section-A

Question numbers 1 to 8 carry one mark each. For each question, four
alternative choices have been provided of which only one is correct. You have
to select the correct choice. :
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Rafionalisation of the denominator of : ——— oives :
/ | | ' RN g
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1.

1 < _ o 5 -2
(A) 7= B B2 (©Q - (D) (——-3—)
1 . '
mﬁawvﬁﬁmﬁmwm.
U D 5 o B -2)
A) - B) B2 (C) B-v2 D)
~ : |
The coefficient of x in the expansion of (x+3)3 is :
(A 1 (B) 9 ©) 18 D) 27
(x+3)3 & W H x w1 v & |
(A) /1 (B) 9 © 18 D) 27
/- ' . : .
> The value of the pdynomial xZ——x—} atx=—11is:
() -3 ® 1 © -1 @ o0
x=—1q?a'§q3x2—x——1aﬂqﬁ%:
(&) -3 ® 1 © -1 (D) 0
4 Which of the following polynomials has — 3 as a zero ?
(A) x-3 - (B) x2-9 (C) x2-3x (D) x2+3
ﬁm%@aﬁ@%qagqaww-3%?. |
(A) x—3 (B) x2-9 (C) x2-3x (D) x2+3
- 5 The complement of (90° - a)is:
(A) —a (B) 90°+a (C) 90°—a (D) a
(90° —a) @ T ¥ -
A) -a (B) 90°+a (C)90°-a (D) a
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10.

Fa'c':t_orize :27x3 + .125y3.

TOES WY : 27x3 + 1253,

' Without actually calculating the cubes, find the value of 203 + 103 —303.

SRS H o o1 qieRe fed o, B o o e st |

203 +103 - 303,
12. |n ﬁgure, if /] m; then find the value of x.

\ )

13.  Show that of all line segments drawn from a given point to a line,

not on it, the perpendicular line segment is the shortest.

<Y o T T o et fag 9, < 50 T o feom 76 €, foed oy mve @1 W o 2 I o
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: OR
Prove that each angle of an equilateral triangle is 60°.

mﬁm%mgﬁgaaﬂmm6ﬂ°@m%a

in which quadrants do the following points lie ?

@) 2=1 k) (=17 @ (-2-3) (@ @5)
@ 2= ® (-17) @ (-2-3 (@ @5
, Section-tl
Question numbers 15 to 24 ca‘rry three marks each.
1. Leti and y be rational and irrational numbers respectively. Are
.:c‘+ yand iy'irrational ? Justify your answer by an example for each. |
' Wﬁsx@qﬁﬁam%a‘my@mﬁﬁaﬁ@r%a Wx+yaﬁ?xymﬁﬁ;m@13‘hﬁ? FH IW
I I ST Y TER | Hifor | :
| OR
- Giye an example of twp irrational numbers whose :
(A) sum IS rational |
(B)iﬁ 'prod'ucs:t ié rational
(©) quotient is rational
Pt 9 oraftia shamal 77 et e e -
(A) Am o gem R
(B) 7mwa wh qﬁﬁm e ¥
(C)  wwer T ufeh dem 2
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16.

Prove that > L +

B BB 24

fg S B s — =

+ =0.
i - 22—
- ractorise 2+ x_1 .
4 8
» . : 2 X 1
oFES BT 20+ T o
. 4 8
. ‘ _ OR :

What are the possible expressions for the dimensions.of a cuboid whose voiu‘me is

given below ? ' |

Volume = 12ky2 + 8ky — 20k.

| O S T A 12ky2+8ky—20k%| Wi‘amsﬁémmamw%?
8. {f x=2y+6 then find the value of X0 — 8y3 —36xy —216.
gt x=2y+ 63, @ 13 — 8y — 36y — 216 51 I A

19. In AABC, /B=45°, LC=>55° and bisector of /A meets BCata

point D. Find LADB and £ADC. | ‘

AABC # /B=45°, £C=55° @ A & wafgsss BC &1 D fremn %1 £ ADB @R

£ ADC @ =ifsT

"OR
In the figure below, I1||lp and a1llap. Find the value of x.
,«{‘{1
12

- I

< > ai

< 7 - + a

4x—15
: }
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- 20.

21.  In the given figure, AB = AC, Disthe pomt in the interior of AABC such that
ZDBC= £DCB. Prove that AD bisects . BAC of AABC.,

A

B c
& erfa H, AB=AC ®1 aft faue ABC ¥ ar: mﬁ@%ﬁgbwm%% «DBC= ~DCB
%, ™ fig FC fm AD fns ABC % . BAC =7 st 1
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25.

26.

. 27,

28.

aﬁwmwﬁ%ﬁaﬁ@aﬁmmaﬁmmmx

Section-D

Question numbers 25 to 34 carry four marks each.

Fmdthevaluesofaandblf 7+ 345 7—3\/§=a+‘\/§b ’
3+\F 35

7 + 3\/“ 7~3J§

— = —a+ SBpE A TUTb & A J1d FIfT L
3+J— 3- 5 a \/_, 2

OR .
Evaluate after rationalizing the denominator of ( N 2 \/_) It is being given

that V5 =2.236 and 10 = 3.162

‘zmqﬁﬁzﬁw (\/_—\/—J emwmsrmﬁ“—wm ﬁmgan%%\/_ 2.236 G4 /10 = 3.162

1 1 1 1
e =yt
2+V5 B+ B+ay 7+ /8
1 1 1 1

T NN \/—+f 7+

Simplify : -

Prove that : (a2 — b2)3+’b2—c2)3+( 2—a2)3
=3(a+b) (b+c) (c+a) (a—b) (b—c) (c—a)
fog e (a2 —b2)3 + (b2 — 23 4 (2~ 22)3
=3(a-+b) (b+0) (c+a) (a—b) (b—0) (c—a)

If remainder is same when polynomial p(x)= x3+8x2+ 17x +ax is divided by
(x+2) and (x+1), find the value of a. '

aft 957 p(x) = x3+812+17x+axﬁ(;\+2)aﬁz(x+1)©ﬁﬂr%ﬁaﬂ%qw‘rwwmg‘r da
1AM I il |

visieNet”

1SO-"9001-2000




29. ' o .
Find o and B, if (x+1) and (x +2) are factors of x3+ 3x2 —20x + B.

afe 13+ 3x2 — 20+ B ¥ (x+1) 3R (x+2) TrEE § 9 o R B 7w HE
OR
"L//ﬁactorize - x3 332 9x—5.
TUEUE FHIFT 23—3x2—-9x -5,
\/30-/ " Plot the points A (4, 0) and B (0, 4). Join AB to the origin O. Find the area of
"AAOB.

et A (4, 0) 71 B (0, 4) = a7dfies Fifm i forgail O,A, B 1 amem # fremsy a1 AAOB a7
¥HA I HiC ‘

y In the given figure, if PQ||ST, APQR%110°and ZRST=130° find ZQRS.

~d

32, " '
In the given figure, the side QR of APQR is produced to a point S. If the bisectors of
Z/PQR and ZPRS meet at point T, then prove that ZQTR = % ZQPR.

é@‘wﬁﬁAPQRﬁWaRﬁﬁ@SﬁmW%fﬁ ZPQR au1 /PRS & wafgyr fag
Twﬁﬁ%ﬁfﬂ@ﬁm%éQm=%zQPR. |
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33)

23" ABCD is a parallelogram. If the two diagonals are equal Find the measure of

ZABC.

, ABCD U i g & H&@WW% a‘téABCwqmmaaﬂﬁﬁq:

In figure, ABC is an isosceles triangle in which AB = AC. Side BA i is produced to
D such that AD = AB. Show that BCDisa nght angle.

D

B.

Y C

aﬂg:f‘aﬁ ABC@W@%{@%’WAB AC & ngAﬁ@DWWWW‘B‘%%
- ~AD= AB%:W%BCD@W%:

D
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